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o =g —— = B =1 = 1} 1T
20243\ HHE SE23H NS0AMAH SZH
(et9: H9
= el 9 =2 Xl = o] 2
20243 H ¢l & " 20235| H e = " = A 1o 20243\ H e & " 20233 Al . = A It oM
3 = = gl akod ?‘(;)”' ATIEZ Ol &re ;‘(;)”' ‘ﬁ_gf 3 = = g akod ?(f/:)t” ARIED Of Abod ?(;f)”' °(§_=')ﬁ
(A) (B) (A) (B)
sS=E249 108,730,325 | 98.5 108,907,420 | 97.9 | A177,095 |4 54,775,354 | 49.6 57,702,020 | 51.8 | A2,926,666
49] U )82
Em = - - - - - [|22egy 13,693,243 | 12.4 21,211,962 19.1 | A7,518,719
T g
WERH+Y - - - - - @Rt A 23,477,467 | 21.3 23,556,304 | 21.2 AT8,837
nse 39 1,652,370 1.5 2,106,303 1.9 | ~453,933 [|[Rs2H 2 250,500 0.2 273,915 0.2 A23,415
= |. _
IEIHBDIE}XM - - - - - [r&2 9,000,000 8.2 1,508,324 1.4 7,491,676
T g
DA KA Q42+
i;’,”“ O = 3 0.0 5,348 0.0 A5,345 [lodlHIHI 70,000 0.1 137,918 0.1 AB7,918
T
=
S 92 - - _ _ ~ Eﬂ%;a B ] ] - i
DA XA
NEEX &= - - - - - ;%”JH 9,116,134 8.3 6,907,790 6.2 2,208,344
SEL A S - - _ _ _
DEL A S - - - - -
| 110,382,698 | 100.0 111,019,071 9.7 | ~636,373 g 110,382,698 | 100.0 111,298,233 | 100.0 A915,535
2 X =
g:g;gjl - - 279,162 0.3 A279,162 g:gﬁgvl - - - - -
=220l & 2 XS0l &
QJHT ol & 110,382,698 | 100.0 111,298,233 | 100.0 | ~A915,535 x;)”mgo:ua 110,382,698 | 100.0 111,298,233 | 100.0 1915,535
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A = 0O & A

(20244 038 01L2H 20253 028 282 NtHXl)

1. ¢ (Etel: el
o = 20243101 [ 20233 H ST —
- - — = (()1* )&04 4i+—’7=—%3'8)0=ll&°—.” ey AED 2o
5100 SSE==¢¥ 108,730,325 108,907,420 A177,095
5110 S=E==¥ 108,730,325 108,907,420 A177,095
5111 - - -
sSFgsas
g -
5112 651,640 674,620 N22,980
etdgs= e MFAMEY SE= BAM F2>
—JISUHZHSE AA 18Xt 620,000 x38H 23,560,000
—JISUAEZUHSA A 25X 620,000 1 620,000
—JISUHZ A AAF 38Xt 620,000 %1 620,000
—JISudEUSE HA 38MAF 620,0008 1 620,000
—JISUHZHEA AAF 48X 620,000 x2H 1,240,000
—JISudEUSE &A1 R 830,000 %928 76,360,000
—JISUHZHEA 2FAF 38Xt 830,000 6 4,980,000
—JISWEEUSE A 457 830,000 1 830,000
—JISUHZ A 2HAF 65X 830,000 x4 H 3,320,000
—JISudEUSE S AL 1SR 830,000 5 4,150,000
— PSR AAF 151X 620,000 x99 61,380,000
— Alstiista HAH 15X 620,000 %2708 167,400,000
—alsttist@ HAF 2R 620,000 x6 S8 3,720,000
— AIstiista A AF 35X 620,000 *6H 3,720,000
— Astiist@ A 45X 620,000 *3H 1,860,000
— A MASII S A AAF 188X} 620,0003«15E 9,300,000
— WSt AAF 15X 620,000 *7138 44,020,000
— WSS A 3SHX 620,000 %1 Eé 620,000
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= 202431001E | 20288 HYE | o
= olce | 4xay olpe | SO sEad 3o
o g s (A) ®) e
— EA=XHerA HAH 18X 620,000&*38H 23,560,000 &
— A3 AAH 1SRt 620,0002 1489 91,760,000 &
— ME A &AL 28X 620,0003 x4 2,480,000 &
— MY EA AAF 3K 620,0003+2Y 1,240,000 &
— 20l =& AA 18X 620,0003 37 22,940,000 &
— Zottl=0srd AA 188X} 620,000&*12H 7,440,000 &
© Het& 23t get3d
—JIsuUNdZUsHA AAF 258X 620,0003 1Y 620,000 &
—Jlsund=0 & AAF 38Xt 620,0003 %19 620,000 &
—JIsuNdZUsHA SHAF 18HX}F 830,0003x12H 9,960,000 &
—JI=suNdZ A S AL 28X} 830,0003 29 1,660,000 &
—JIsuNdZHsHA SHAF 38HXF 830,0003 1Y 830,000 &
—Jl=sund=Z0 & B A 65F X} 830,000 3K 2,490,000 &
—JlsnNd=Z0srA A8 AL 18Xt 830,000 *3H 2,490,000 &
—JIsnMd20Hsr3 HE8FAF 68X 830,000 *1H 830,000 &
— LU E A A A 18Xt 620,000 %96Y 59,520,000 &
— NSt A A 288X 620,0003+5Y 3,100,000 &
— Al er 3 A AL 38Xt 620,000 *1H 620,000 &
— NSt A AL 458X 620,000 39 1,860,000 &
—BASX USSR SAF 13X 620,000& *5H 3,100,000 &
— MY SR &AL 28X 620,0003 x4Y 2,480,000 &
— &G er 3 SAF 38Xt 620,0003*1H 620,000 &
— MY SR AA 5K 620,000 +2Y 1,240,000 &
— 23t0l=0sr3 SAF 288Xt 620,000 *3H 1,860,000 &
B 651,640,000 &
511 87,922,068 88,083,290 A161,222
S2EsAI < NRAE SE= BAM 2>
@2 =gz
—QIZHE SE=2 '9,632°H 38,705,072,000& 33,705,072,000 &
—NHHE SE3 '7,243'9 30,430,646,000& 30,430,646,000 &
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= 202450 E | 2023809% | = oven
= oot | 4xim gao | SATA GEaN o
2 - = ) () G
—HEHE S22 =2 '1,576'H 6,948,716,000& 6,948,716,000 &
—sHE S22 =2 '3,656'H 16,632,344,000& 16,632,344,000 &
@ 2= SEFSHE 24
— MBS =82 90,0008 +1118HA 9,990,000 &
— 8| =2 90,0008 +100sHA 9,000,000 &
® HESD| 29
—olHAIAHESH)| =2 = 90,000&*970sHHE 87,300,000 &
—ZSAHAHESD| =22 90,000&*1,100&+H 99,000,000 &
gtH:| 87,922,068,000 &
20,156,617 20,149,510 7,107
< NEAYE SE2 GHM &>
—JSDNEIUSA AAF18X}F 3,921,000 x38H 148,998,000 &
—JESDNNIUsSH &AL 28X} 3,838,000 %2H 7,676,000 &
—JIESndEZsta A A 28Xt 3,838,000 +«1H 3,838,000 &
—JESNNIUs AAF 38R} 3,838,000 x32H 122,816,000 &
—JSnNEIUSHA A A 38X} 3,838,000 +1H 3,838,000 &
—JESNNIUsSH & A 38X} 3,838,000 +1H 3,838,000 &
—JSDNNEIUSHA &AL 48X} 3,736,000 x5 18,680,000 &
—JENHNIUSH BEAF 18R} 4,732,000)%x92H 435,344,000 &
—J|SDHEIOSHRA BHAF 28X} 4,632,000& x20H 92,640,000 &
—JENNISH BEAF 38R} 4,632,000 x73H 338,136,000 &
—JSnNIOSH BHAF 38X} 4,632,000 «6H 27,792,000 &
—JESENHNIUSH BHAF 48R} 4,512,000 +«9H 40,608,000 &
—JSDNEIOSHA BHAF 48X 4,512,000 +1H 4. 512,000 &
—JEDNHNMISH BEAF 5S8R} 4,512,000 x60H 270,720,000 &
—JSDHEIOSHA BEAF 68X} 4,520,000&*x21H 94,920,000 &
—J|sSnNdIOSH3 A8AF 1SR 4,732,000 x5 23,660,000 &
—JSDHEIOSHA ABFAF 28X} 4,632,000 %2H 9,264,000 &
—J|sSnNdZ20sH3 A8FAF 38X 4,632,000 *3H 13,896,000 &
—JSDHEIOSHA ABFAF 48X 4,512,000 +«6H 27,072,000 &
— JISWNMBHSHA HBEAF 58X 4,512,000 x4H 18,048,000 &
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,405,000&+99H
5,294,000 +75%
5,294,000 +70&
4,220,000& 2704
4,123,000&+34Y
4,123,000& 64
4,123,000&+2434Y
4,123,000& 64
4,016,000&22H
4,016,000& 34
4,016,000&+2434Y
4,037,000 22H

Bt
4,678,000&*15H
4,581,000& 14
4,581,000&17H
4,395,000 *16H

1
0z
oin
Jh

,678,000&*71H

4,581,000& 34
4,581,000&+66H
4,581,000& 14
4,395,000 29

4,395,000& 64X

X+ 4,678,000 38

X+ 4,581,000 +7H
X+ 4,581,000& %30
Xt 4,460,000 x5
Xt 4,460,000& 29

St 4,520,000 +3H
b 4,520,000& 64

13,560,000
27,120,000
4,267,000
535,095,000
397,050,000
370,580,000

,139,400,000

12,369,000
24,738,000

,001,889,000

24,738,000
88,352,000
12,048,000
975,888,000
88,814,000
7,034,000
70,170,000
4,581,000
77,877,000
70,320,000
2,116,000
332,138,000
13,743,000
302,346,000
4,581,000
8,790,000
281,280,000
177,764,000
32,067,000
137,430,000
22,300,000
129,340,000




o = 20243 0SS | 20288 HE | .o
= garon | an= oo | SA3 HEa 2o
% 2t s (A) 8) )

— AEHSHR A AF 1S X1 4,678,000 %148 692,344,000 &
— MEHEHR A AL 28R 4,581,000 «6H 27,486,000 &
— AEHSHR A AL 28X 4,581,000 %4H 18,324,000 &
— MEHEHR A AF 38X 4,581,000 %1389 632,178,000 &
— AEHHSHR A AL 3SEXF 4,581,000 %2H 9,162,000 &
— MEHEHR A AL 45X 4,460,000 +18H 80,280,000 &
— AEHfSHR A A} 5EFX) 4,460,0003 %1299 575,340,000 &
— 20 =S AAF1SERF 5,717,000 x37H 211,629,000 &
— 230 =HEA A 1&EXE 4,675,000)%12H 56,100,000 &
— 230 AAF 38R} 5,600,000 x32H 179,200,000 &
— 230 =& A AF 3&HXE 4,580,000 x3H 13,740,000 &
— 20 =S S AN 48R} 5,432,0008x9H 48,888,000 &
— 230 =& M AF 58X} 5,432,000 x33H 179,256,000 &
— 230 A AFBSER}F 4,400,0008 x3H 13,200,000 &
® &t 28t =2
—JISHNNMIHSHA A AF 28X 3,921,000& x32H 125,472,000 &
—JIESndIsta A A 28Xt 3,921,000 «1H 3,921,000 &
—JESENNIUsS A A 38X} 3,838,000 «7H 26,866,000 &
—JSnNEIUSHA A A 38X} 3,838,000 +1H 3,838,000 &
—JISHNNMEHSHA A AF 48X 3,838,000&*30H 115,140,000 &
—JSDHEIOSHA BFAF 1SR} 4,732,000 %x12H 56,784,000 &
— I SNHMEHSHA BEAF 28X 4,732,000&x72H 340,704,000 &
—JIESnNNHIOsH BHAF 28X} 4,732,000 2H 9,464,000 &
— J)ISWHMEHSHA BFAF 38X 4,632,000& 19X 88,008,000
— SN IOSHA BHAF 38X} 4,632,000 +1H 4,632,000 &
— J)ISWHMEHSHA BFAF 48X 4,632,000& x67H 310,344,000 &
—JSWHIOSH BHAF 58X 4,512,000 «8H 36,096,000 &
—J|snNd20sH3 8FAF 68FXF 4,512,0000& 49H 221,088,000 &
—JSDHEIOSHA ABFAF 1SR 4,732,000 %3 14,196,000 &
— ) ESNHIUSH ABEALF 28X} 4,732,000 +«6H 28,392,000 &
—JSDHEIOSHA ABFAF 38X 4,632,000 +4H 18,528,000 &
— ) SWNMBHSHA HBEAF 48X 4,632,000 x4H 18,528,000 &
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= 20243 H S | 2023810 | =
o ~ = oﬁﬂlﬁ AXIZ2 Of ko S(AA_:SF;" AED 2o
= g = (A) (8)

S uNS0a e MOA 55K 4.512.0008 48 18.048.000 &
—JSDNHIUSHA ABAI 68X 4,512,000 +5H 22,560,000 &
_ISDEDYEY MEAL BB 4,512,000 12 4.512.000 2
—JSDHIOSHA ABHAF 78X 4,520,000 %5 H 22,600,000 &
_JSDEDYEY MBAN 8B 4,520,000 47 31,640,000 &
QB S A A 18HR}F 5,405,000) x96H 518,880,000 &
_ QB A Af 25t R} 5.405,0008 %942 508.070.000 &
— L BHHSHR A AL 38HRF 5,294,000& 759 397,050,000 &
_ QBB A Af 43R 5,294,000 602 317.640.000 &
— AMSHIHSHR A AF 28HXE 4,220,000 %2609 ,097,200,000 &
_ MBS A AF 23t R} 4.020,0008 %52 21.100,000 &
— MSHIHSHR A AL 38HRF 4,123,000 %20H 82,460,000 &
_ MBS A AF B3R} 4.123,0008 %1 4.123.000 2
— MSHIHSHR A AL 45HX) 4,123,000 %235 H 968,905,000 &
_ MBS A AF 43HR} 4.123,0002 %32 12.369.000 &
— MSHIHSHR A AL B5SERF 4,016,000 +«15H 60,240,000 &
_ MBS A AF 63HR 4.016,0008 %220 883.520.000 &
— MESHHERA AAL BEIX SHEE= 8,892,000 &
_ AEAIBYER S A D8R} 4,678,000 172 79.506.000 &
— AlMAISHIHE R A A 38ER} 4,581,000 +1H 4,581,000 &
_ ARMAIBYEE A AL 45T 4,581,000 162 73.296.000 &
_ AFMASI SR A A BT BIRES 2.616.000 &
_ DSHE MAf 23R} 4.678,0002 632 294.714.000 &
— =& A A 38R 4,581,000 +«7H 32,067,000 &
_ DSEE A AL A5HR 4,581,000 <592 270.279.000 &
— =S A A 58X 4,395,000 «4H 17,580,000 &
_DS0s MA BRI BIEER 2.132.000 &
_ SAST ISR A A 15T 4,678,0008 <52 23.390,000 &
_SHSXE R A A} D3R} 4,678,000 4332 154,374,000 &
_ SAST ISR A A 35T 4,581,0008 <52 22.905.000 &
_ S YER A A} 45T 4,581,000 %302 137,430,000 &
_ S E A AL 55T 4,460,000 %32 13.380.000 %I
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o = 20243101 | 20233 = A 101
> - — = oA [ 4RIEZ ook ey MEDA =
= e = (A) (B)
— ATEHTHENR A A 28t R} 4,678,000 %130 608,140,000 &
— AEHHEIR A AL 28t T} 4,678,000 *4 18,712,000 &
— AEHTHEHR A AL 38HR} 4,581,0008 *1 4,581,000 &
— AEHTHEIR A AF 38R} 4,581,0008 *1 4,581,000 &
— ATEHTHENR M A 45HE} 4,581,0008 %1182 540,558,000 &
— AEHTHEHR A AP 55HE} 4,460,000 8 x232 102,580,000 &
— AEHTHENR A AL 55HE} 4,460,000 *2 8,920,000 &
— MEfEe AAF B8R SR SE 1,063,000 &
— 2SS UE Y AAL 28HXF 5,717,0002 %39 222,963,000 &
— S50 SR A AL 255} 4,675,000 +8 37,400,000 &
— S50 S A A AL 28K} 5,717,000 %3 17,151,000 &
— S50 S TE R A AL 35FF 5,600,000 %2 11,200,000 &
— S50 Z TS Y A AL 43¢ %} 5,600,000 %27 151,200,000 &
— S50 ST R A AL 455 4,580,000 +4 18,320,000 &
— S50 A AL 53Rt 5,432,000 %59 27,160,000 &
® Oi8 el HEEI| 22 49
—358%90,0002 *32 F*20 & )| 18,900,000 &
83: 20,156,617,000 &
5120 22242 - - - -
5121 - - -
ST
- -«
5200 ML) £49l - - - -
5210 Mol24¢l - - - -
5216 - - -
DU
- - 9
5400 12942 1,652,370 2,106,303 453,933
5410 G120/ Xt%2 33,434 165,951 132,517
5411 33,434 165,951 A132,517
VLIRS ® 020l Xt
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o = 20243 0SS | 20288 HE | .o
= glaron | ax=a opros | SAZ HEa 2o
% 2t s (A) 8) )
—0l= Ol At 20,000,000 20,000,000 &
@ s 201Kt
— 20l A =& 13,434,000 &
2[5 33,434,000 #
5420 J|Et W = 2| %= ¢! 1,618,936 1,940,352 A321,416 1,618,936,000
5421 1,618,936 1,940,352 AN321,416
£ 4=2| @ &=
—&4=¢ 1,613,836,000& 1,613,836,000 &
o S22 ALAHIA 10JHE*10,000& 100,000 &
@ 2223 =2 =& 5,000,000 5,000,000 &
2B 1,618,936,000 #
1300 D& XFAHOH 2= 3 5,348 N5,345
1310 S & D& XA 2+ 4= 3 5,348 AN5,345
1311 E X 0 2HCH - — - gl - &
1312 A=0H=20H - 2[5 - &
1314 1 1,607 A 1,606
JIHID| =20 2HCH ® U=EEX 1,000 1,000 &
2[5 1,000 &
1315 1 1 -
SO S0=2CH ® U=EEX 1,000 1,000 &
2[5 1,000 &
1316 1 1 -
XS e300 2+ CH ® ==X 1,000 1,000 &
29[k 1,000 &
1317 - 3,739 AN3,739
S ANOH2HCH
SHAI: - €
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o = 20243/ T | 20233/H ST —
2ooard | AxtEZ e | TS 2o
o g s (A) (®) e
NEEEEE 110,382,698 | 111,019,071 A636,373
s&I0282 | - 279,162 A279,162
1100 )| EQ S AHAH - 43,225,245 | ~43,205,245
1110 - 42,058,456 | A42,258,456
SEX2
B &
1120 - 966,789 966,789
JIEFRE XA
Bl !
2100 JI XSS 2 - 42,946,083 | ~42,946,083
2120 - 69,935 169,935
o2
BHI: =
2130 - 41,816,213 | 241,816,213
pN=
BHI: =
2140 - 1,059,935 | ~1,059,935
IIEtRE 2
BHI: =
NEEXEEXE] 110,382,698 | 111,298,233 A915,535
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A =

Ol

& A

(20243 03& 01L2E 20254 028 282 NtXI)

(Et2l: &)
o = 20243 S | 20233HA= = ooy
2 0flarod ARFZEZ O Arod o ME2A 2 o
2 = (A) (8) e
54,775,354 57,702,020 | A2.926,666
4110 n gl 40,039,809 43,457,069 | _ A3,417,250
22,204,211 24194,727 | 1,990,516
< NSRS QBB HA &E>
OREAZ0IXZ
—MRAZ0{ 22,204,211,0002 22,204,211,000 &
8HlI: 22,204,211,000 %
4112 1,698,983 1,663,918 35,065
EPXE < NSRS QBB HA &E>
OREAZ0IXZ
—2A0{2 1,698,983,0002 1,698,983,000 &
8Hl: 1,698,983,000 &
411 8,963,968 10,851,647 | 1,887,679
ne <E NS QBB HA &E>
ONVEL"E-FIJN
— A5HEED] 3%%100,0002 7L 2,100,000 &
@RAR>Y
— HAMAZHAAIR 35,0002 *230Al 2H+155 #2581 241,500,000 &
— =2 MAZHAAIR 35,0002 *230Al 2+ 153+251 )| 241,500,000 &
— AXY 2O Z 56,0002 *660AI 2H+15 %28t )| 1,108,800,000 &
— DEH| 50,000 50 *157+25! ] 75,000,000 &
— MBS AL MY 45,0008 *53A1 4+15F%25 71,550,000 &
— I BAR HY 56,00021+3Al4x15%#25t )] 5,040,000 2
® PAE B2
—5 N SFI & DHE DL A AR 1,000,000%4%+1,500,0002 8,500,000 &
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20243 H AT

20233 H A=

= 0 abo AT ZEZ O Ao 2 o
= 2 = (A) (B)
e 2 A= 1,000,000 %8 #103 80,000,000 &
® D= AAE
—NEBAAZ X2 350,0008 2% 700,000 2
—HMZAAZ(HE) X2 200,0008 10 2,000,000 ¢
—SIEAAZ(HE) X2 2,000,0008 7 14,000,000 2
® 24 DY LA 500,000425 12,500,000 &
© DAAE2YAZ 7,091,238,000 7,091,238,000 2
© Herel H=s| 2
— HEBI| F2AUAE 52,0002 «30 Al 2*2IH BHx2 45D 6,240,000
— HEBD| OF2F2ALE 55,0002 «30 Al 2% 1 BH«2 45D 3,300,000 &
8,063,968,000 &
411 3,005,607 2,782,601
nAYHEL2 © Y A =2 160,000,0002 %972 1,440,000,000
® 0 o 2| 8,000,0002!%107H2 80,000,000 &
© DY HLBE 22| 75,000,0002 102 750,000,000 2
© D o HE & 22/ 3,000,0002 %1072 30,000,000 &
OMET=ES
— 730,000 .00800%12 5,607,000
© Y A £S 22| 50,000,0008 %17 850,000,000 2
© DY U YA DEEE 22 5,000,0002 104 50,000,000 &
3,205,607,000 $
411 1,776,900 1,752,101
NEIEEI @Az o2
— 2 A2 AS 56,0009 %340 A 2t+ 15223t 571,200,000 2
2LAFE B2 53,0002 %350 A1 2t 155 %254 556,500,000 2
o} 8t = AZ 56,0002 340 Al 2H+2 %234 76,160,000 &
— 9EHE 212 B2 53,0008 %350 A1 242 Z 4254 74,200,000 &
© CHBrel AIZF2UAL 2012 X2
—UAE b 52,0009 %21 Al 2H + 0F2F 55,0002 %30 A 487,288,000 €
— AISHHEI HI D Z 208 52,0002 %2 A1 21 125%4) 9,152,000 &
® DSHs I EH S
—2A2 F 100,000 %1 Al 25122 B)#2 2,400,000 &
1,776,900,000 &
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Alotatste o1
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@ JISuAAZ 883 37
1

= 0 abo AT ZEZ O Ao NEED 2 o
= 2 = (A) (B)
411 214,390 005 426
sg2o2 @OIL 25 XIHAIS| A X (WA QISR 40{4l)
—2FAFH| 300,000 «6 % +25¢ )| 3,600,000 ¢
—=24H| 300,000 %2547 600,000
SHMHEA A5 T2
—Z=21 2 AHH| 35,0009 «50 A1 2+ 1,750,000 &
—8H Al ZEMPCAFEHH| 10,00021%20021%23] 4,000,000 ¢
OFSE=LIPEE=2--TPN
— 2 AFH| 35,0008« 16AI 2b552 %254 5,600,000
@BIMOZ R O AASH UG T2 Y
— 221 ZAH| 35,0002 «3 A 20x254 )| 210,000 &
ORI CIAIS] DA T2 )2 (A0l MOIAl
—XI S WEH| 35,0002 +3A] 2tx52 %23 1,050,000 &
@ZEH Lo ma
—2LAMH 3,255,000 3,255,000
@ZolgRAs
—2FAFHI 500,000 2 Al 2H£25+200,000 2 +2 Al 2H424 +, 4,125,000
@XICAIS 235t QNS T2 2
—2F AFHI 35,0002 %1803] %5 Al 2t 31,500,000 &
@SS AlHE—PIPESOIA DS TR 2
— 2L AHHI 35,0002 %4 Al 2H+35] %1028t )| 8,400,000 &
©® DASSHLY AYENT
—HUENH 2 100,0008 * 5AI2 * 23] * 6 * 2 12,000,000 2
© DAstEINLY CTL 2IH S 223
—CTL 21223t 202 200,0008 * 2AI2F * 3 « ¢ 12,000,000 2
© AZ2L DS 100,000 %2 Al 20%281 ]| 400,000 ¢
© SIS 100,0009 «2 Al 2042584 400,000 ¢
® FYQWI 100,000 *2A| 2H+23] 400,000 &
® ETAIEHHI B 50,0008 %2 Al 2H203] 2,000,000 &
® DEAOIL
— 2AFE 100,00080 %1 G2 Al 2 200,000 &




o =2 20243 HH = 20233 HAH = = A 2toH
— 2 0l &k AXtF=Z Ol A A CEA—E)_‘ MEZA = 9
& g = (A) (B)

— A2 LA 150,000 *2 Al 2t 300,000 &
2 Al erE A2
— A2 LA 150,000 *2 Al 2t 300,000 &
@ 9Nt A4S AOIL

1T A M AL
— S82&9 =2 550,000&*1H 550,000 &
— Al H 2021%150,000& 300,000 &
@ IJsn9g dAg AP

TSI AR] 2
— 52 75,0003 %23 %20 & 300,000 &
© N FolMALS ANRS

1TSS =ol MG Als MAISH L
— =g E MNE Y F=ME X AIEl 201%550,000& 1,100,000 &
— S8 FAH1,100,000&*1H 1,100,000 &
IME=qMHF LIS IHS=UHE
— oA EX 1,400,000 %10H 14,000,000 &
UMD SZAEIRIAS
— A2 LA 150,000 *2A|1 2t+2H*13| A S 600,000 &
— WUWHZAF 75,0003 %2 A1 2tx2H %13 R A& 300,000 &
— A& E 75,0003« 1Al 2«28 x13 TS 150,000 &
9 N DSH HFREIMOILE
— A2 LA 150,000& *2 Al 2tx1H*33| Ml O Lt 900,000 &
— WUWHZAF 75,0003 2 Al 2tx2 2 *33| Al O] Lt 900,000 &
— A& E 75,0003 #1 Al 2tx2Z+33| MIOf Lt 450,000 &
@© 2t s CQlI | A4

— 2 AtE 18%100,000&3 *4 Al 2t 400,000 &
(® 2t skt BASE Specialty Z2 1 &4

— 2 AtE 20A12b%x10t=+10,000& 2,000,000 &
© 2tS& 0 LIOIEAH L& M A

— 2 AFE 1H#2A12Ex200,000& 400,000 &
@ 2SSl HENMBIIIEFES

— ZAFE 18%200,0002 *2A| 2t 400,000 &
@ 2tS&H ) HAAD|AHAS T2 (I x)

—2AE 408 %20,0003 *8A| 2+ 6,400,000 &
@ 2tSEH HAAD | AHAS T2 (A

— ZALS 40 *20,0002*8A[ 2t 6,400,000 &
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o = 20243 A IE | 20233 HSic = oo
= 0 aroy 4T Of Aoy T AE2A =

il S -

= & = (A) (B)
© Szt
—QIE 2 AFH| 2A12b%150,000 2 *9 L 23] 5,400,000 2
—LHE 2 AFE] 2A12H%75,00021 x62 %23 1,800,000 &
© ALXHUDRMD ATXT2 )42 2ASIALY
—E£2t 381%200,0002 600,000 2
© ALXHUD2HED AT XS ROI22SIALY
—E£2t 381%200,0002 600,000 2
® AT XS ANA2A2ASIAY
—S2t 4%200,000 800,000 2
© AZXAY MZMUAMSI} HI DD LA DH
0%

—S& 44 200,0009._J 800,000 &

TS ESA W= ?I| °4

— IS 2 A 200,000 x2S 400,000 &

@ HELLEY 2 (ML2S)

—&af 2 AH] 200,000 *28H D] 400,000 &
— 2 BF 2FARE] (200,000 *8*157])+(300,0002 x4 2,800,000 &

O3 |‘:*0|EP§*_’(¢'%‘9|§S%)

—LHS 2 AH] 75,0003 52 x25¢ | 750,000 &

I~| E}\.”D| L|.(O:| X AH O OE)

O T o o

—DFAPHI 300,000&*1st7| 300,000 &
© WIAGHSHOICSHYRSE)

To oo

— WA 0EH 2XAtEl 1,300,000 *3E *25¢ | 7,800,000 &
@I=SRnLdWYE A2Le(LEI=SES)

—AIDILE ZFAHE] 400,000 %1 2] 400,000 &
© AN

—2ZAtEl 75,0002 *6 Al 2H+3H 1,350,000 &
—2AHHI 100,000 *5A1 2H+1 & 500,000 &
@ HAZHUMN ESEH

— 2 AHHI 75,0003 *6 A1 2F%1 & 450,000 &
— 2 AHHI 100,000& *5A1 2H+1 & 500,000 &
© ZUHINEH

— 2 AHHI 75,0003 *5 A1 2k %4 &H 1,600,000 &

@ oHQAEIIE W
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-IEr\)

nE
0
0z
oy

NSRS AAHIBAIAM 2>

592,550,000

ul = g =YNeIE .
- — 2 0flarod ARFZEZ O Arod (A-B) ME2A 2 o
& g = (A) (8)
— 2 AtBI 100,000 +5 A1 2H+19 500,000 &
® K_Move 2 A2} 100,0008 3041 2 3,000,000 &
® HOHZICHSEAF 100,000 %3041 2t 3,000,000 &
® CHSHOIBIDHE 100,000 *40A1 2t 4,000,000 &
® ZALR 40,0008 %20 Al 2H+103 %3} 254D 48,000,000 &
8l: 214,390,000 &
411 209,600 219,680 ~10,080
DAERZ OYMEINS
— €% (2,000,0002 + 2,000,0002) 4,000,000 &
® DRAEXZ X2 100,000,000 2 200,000,000 &
© SAEIE S (56,00021%100A1 %) 5,600,000 &
8HlI: 209,600,000 &
411 1,766,150 1,766,959 809
Zmel @ZOIAY|
— QI21H| 57%*2,271,00021*10H 2 + 282,621,000 1,622,168,000 &
OESTLIEE]
— EIX3 57%%189,2502* 10 + 2 *218,42021%10 112,241,000 &
— EIX3 57%%193,4202x2 0B + 2% *222,5902 20} 22,941,000 &
® Z1 €X3 B
— XD ERZ (18 22)2%+2,200,0002 1 HE X+ 8,800,000 &
8Hil: 1,766,150,000 &
14,735,545 14,244,961 490,584
5,925,505 5,755,532 169,973
<E NS QBB HA &E>
ORIAZUXS
—XNAZ 0 X2 5,925,505,0002 5,925,505,000 2
8Hl: 5,925,505,000 %
2 592,550 571,685 20,865

o
[uind
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. = 0 abo AT ZEZ O Ao =27 2 o
= 2 (A) (B)
EAI: 592,550,000 o
412 3,279,091 3,080,943
eSEIRIE PN ¥ HEHE QHHIGHIA EE>
® L2 8H 2t A}
— A,5HEFD| 92#100,0009 +7L 6,300,000 ¢
© SASDTIIBL
—2 A CHI A TFE O Al AR 700,000%7 S 4,900,000 €
© DI OIMEE U N2
—x2 OIMEIE 2 DS 1,000,0008«2%+103] 20,000,000 &
® DI WS AAMZ X2
—XATHE H2AALZ 100,0002 %53 500,000
—XATHE HEAALZ 500,0002 %10 5,000,000
© QAL LA 500,0009 13 6,500,000
® HA2AEALY 3,231,931,0008 3,231,931,000 &
® MAAZAG
—E,252 Y (40,000%69) 2,760,000
—CHED 9 B X(30,000%40) 1,200,000 &
BH: 3,279,091,000 #
412 1,739,915 1,625,389
S ==
© X A2 2| 75,000,0002 %102 750,000,000
© X 201012 2| 15,000,0002 %102 150,000,000 &
© M HLBE B2l 50,000,0002 %102 500,000,000
® ATHE S AFIZ=S 23 44,400,0002%0.02 888,000 &
©® ATHE S AFYIZ=S23 28,200,00021%0.02 564,000 &
® =2 ATHE S 2] 3,000,000 %1004 30,000,000 &
® 2,300,0002 %249 %0.00800% 122 +800 5,300,000
@® X A1 g XA 22| 60,000,000 <4 240,000,000
® DEEE AYZSS3 AAZ0| 44,400,0008%0.01 444,000 &
©® NESPE AIYUZSSE DEOA 44,400,0009%0.00 267,000 &
® D2EE AYZSS3 A0 28,200,0008+0.01 282,000 &
© DS9S AIYUZS2SE DEOA 28,200,0009%0.00 170,000 &
® =2 D2 22| 6,200,0002 104 62,000,000 &
BHAI: 1,739,915,000 &
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20243 H AT
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n; = 4z = A2HOH _
2 ooy AXt=E Ol &Y . AE2A = Y
o 2 = (A) (8) i)
412 2,827,650 2,793,620 34,030
SAIZ Q1A < NSRUE AABIEMA & 2>
© MBAGA 4G I 250003 *8AI2Hx52 30+ 30,000,000 &
© BRALEA A EHl 6H*10,000F*8Al 2H+15F%28H | 14,400,000 &
© SISsDIANMZLHEA &EHI 25,0002 x2L«8 Al 2++30: 12,000,000 &
@ OF2tat e &gz 250003 +x5Q1x=32*30=F 11,250,000 &
© HAARA e124d| 230,000,000 «120H & 2,760,000,000 &
A 2,827,650,000 &
BHI: - ¥
370,834 217,792 153,042
€13 230,000,000 110 & /120 & +667 210,834,000 &
3 A=100,000,000& 1 100,000,000 &
= 20Z* 3,000,000 60,000,000 &
A 370,834,000 &
=lls] 13,693,243 21,211,962 27,518,719
4210 Al M 5,032,318 12,218,006 A7,185,688
932,450 6,700,353 25,767,903
FAl4 2el 2=
SH&IAHl E+3A6,000,000& * 150 = 90,000,000 #
23 A 1,500,000& 2001 = 30,000,000 &
3 AFZ10E 10,000,000 10,000,000 &
st IssEd &4
S2(S2XF) L Ald B3 A 70,000,( 70,000,000 &
2 AIEE2=H] 7,000,000& 1204 & 84,000,000 &
2| LHE SAM 283 22,500,000 %20 45,000,000 &
2| WHSA S=d22 10H+x250,000,00 250,000,000 &
22 2 ZH 8SWH 15,000,000 15,000,000 &
JbA MSEXEX S22, JISusfAsd 112,000,000 &
FEED] ALHDL & B4 (6IHS) 68101%130 88,530,000 &
SA SZoHd
SA SA2C] L AL 23 A 700m«100, 70,000,000 &
INE=Pl k!
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20233 H A=

n; = 4z = A2HOH _
2 0l &kl ATt Ol &b . &E2H = 9
o i = (A) (8) el
— HOHeIAlE E<4=H] 5,000,000& 23] 10,000,000 #
@ 2etd BIHA —_r1§‘3i' NSNS (A ESARL 22])
—&IIAE HE = SAF1,320,000%1A+30H = 3,960,000 &
—2HAE HES SAF1,320,000F*1A+30H = 3,960,000 &
—uWSsHAAL JH@%M 50,000,000 x 14! 50,000,000 #
Al 932,450,000 &
4212 959,297 918,457 40,840
&l 22ltl @J.l_—v—6 HL R AOITHETHA(LMS) KAI2=
—= AN 24l 12JHE*700,000& 8,400,000 &
@I’L—f—i‘%]H%% ZEH =LA AE(CMS) R E=
—= X2 1042 » 1,360 000& 13,600,000 #
CIESHUNE A2 2
— =& 2dI0I1E Web/Was Gen8 B 241" 245,000& 4 2,940,000 &
—stMol= 22| MH BLABOC Gen9™ 147,000 * 12002 1,764,000 &
—GSL 22| M Dell R730 141" 245,000& * 129H& 2,940,000 &
=g 2 HAEAMB Dell R740 141" 245,000& = 124 2,940,000 &
—AOIHZHA LMS 2 (AOIH ZHIHA) Dell R740 240 5,400,000 &
—EIDICIOABI(= A 2) DL380 241" 392,000 * 12J 4,704,000 &
—'DBAM B (& M2) Dell PowerEdge R530 141" 196,000 2,352,000 &
—'WebAMH (& A 2) Dell PowerEdge R530 14" 200,00( 2,400,000 &
—S&AECIXl HP 3PAR 14!, File Controller 241" 588 7,056,000 &
—SEHHAAELX IBM DS3512 241" 522,000& = 12J 6,264,000 &
—ZH= g ey AEZ[Xl Dell MD3200 141" 392,000% 4,704,000 &
—CYBER LMS AE&2IXl UNITY300 141" 919,000& * 1¢ 11,028,000 &
—'NAS AE2IX(EAM&) TS-453U-RP(8TB) 141" 712,C 8,544,000 &
— Router Cisco NCS 5001 141" 651 700‘3J * 12002 7,821,000 &
—WM=A Xl Cisco Nexus 7706 141" 1,300,000& * 12 15,600,000 &
— AMBEARIXI Cisco Nexus 9372 14" 154,000 * 17 1,848,000 &
— S M=E C3560X 94!, C9200L 34]" 783,000& * 12J 9,396,000 &
— Cisco SAN A2{ Xl MDS 9148 24!" 392,000& * 12JH; 4,704,000 &
—Alteon 5224 L4 A X| 241" 416,000& « 12042 4,992,000 &
— Ot S 10G A2IXI(AHOIH 146 I &) Cisco N3K- 2,110,000 &
—'Aruba 7240XM HEE24, Aruba AP-515: 270 EA(DI 2 17,640,000 &
—POEA®IXI(Aruba 2930F: 19 EA)(D %@%/HW*N( 5,880,000 &
—ANAE Y R 2HUERISLIEE /2] W LANE 47,064,000 &
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2 0l &k AXtF=Z Ol A A o MEZA = 9
(A) (B) e

—EcfH 2A2|AIAE TaskQOS N500-B10G" 784,000 9,408,000 &
— T A2 L4 A2l Piolink Pas4009" 676,000& * 124 8,112,000 &
—'Oracle Database 19C RAC S XIE 4" 882,000& * 12 10,584,000 &
—BHAE D ESHOIK Wizard7 SAE-(FAXH, 2 21,576,000 &
—HAZ2MAIAE RAE HCAZE Groupware V6 4,800,000 &
— AT A AE RemoteCall V6 Appliance(4User)" 16 1,944,000 &
—'WAS 0| =2 0{-JEUS, WebtoB' 378,000& * 124 & 4,536,000 &
—BESTHEHAOITHINE AIAE S22+ 22]° 1,307,000% 15,684,000 &
—' S A/ A MyBuilder R A2 4" 528,000& * 1204 6,336,000 &
—SPHSEUSAAE AGS-NPS' 441,000& * 12JHF 5,292,000 &
— AtOIHZBIH A Resin, Jennifer APM X2 2,039,0 24,468,000 &
— 72 G Suite for Education R XIE2="380,000& * 12 4,560,000 &
—'eXBuilde6 FAIE="539,000& + 12)4& 6,468,000 &
—eXPortal X2 1,078,000& * 121& 12,936,000 &
—'eXSignOn SSO | AIE2=" 377,000& * 12 & 4,524,000 &
—'eXSurvey S AE2="179,000& + 120 E 2,148,000 &
—'CLIP report R XIE2="215,000& * 12)H& 2,580,000 &
—U-Check+ 8 X&=Z2 RA 2" 490,000& « 124 5,880,000 &
—HNESEHES2HEBI) K24 1,294,000 « 124 15,528,000 &
—2=& UPS 75KVA-tZJ|&" 701,000& = 120H& 8,412,000 &
—gt2stEI| DS-NA-100U, DS-NA-300U" 788,000& 9,456,000 &
—WindowsH & XXl SAIE2=" 2,000,000 » 14 2,000,000 &
—HiOlef A & IR 22l AIAE HZEAIZ AT 24,500,000 24,500,000 &
—DdostHSAIAE! One-d 5000° 378,000& * 124 4,536,000 &
—IHOIEE AANZLEZE AAE UBI-SAFER-PSM" 417 5,004,000 &
— E OIDNS(DHCP) S2DDS 2500 241" 777,000 = 12} 9,324,000 &
—PCEO FUHE HAH AlAE Comvoy PLUS' 583,000 6,996,000 &
—PCIUCIEE S 3 BLUE X-RAY" 390,000& * 1212 4,680,000 &
—dZ2SH22IAIAE MACS® 550,000& = 121 & 6,600,000 &
— St MSIAICIMIE CMPEZ O S22 22| 1,32( 1,320,000 &
© HHHISRANESHIZ 12J0& 1,500,000 18,000,000 &
®© WD ZEEH 282 /st 23 #< 66IM*100,000& 6,600,000 &
© POHXAAIA Y STE 2 12I0E*450,000& 5,400,000 &
®© APATIA AL

—HP M 2EIAIAE AHEH 722 18,000,0003 1 18,000,000 &
© OHMSH WSEAIE 242 25
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20233 H A=

n; = 4z = A2HOH _
2 0l &kl ATt Ol &b . &E2H = 9
& 2 = (A) (8) ot
— &JI, S == &H| 24| 2,000,000& » 1043 20,000,000 #
— X8I SA2eldl 28] 1,500,000& * 42| 6,000,000 &
— ™I & UPSHHE 2l WXl 1,500,000 %110 £ 16,500,000 #
@ XHJtset usad &4
— Wetg )] 2 ZHl #=2lHl 8,000,000& «124& 96,000,000 #
— =2ZJ| ==cldl 2,000,000&*124 & 24,000,000 #
© ZOHsta AIZOHH
— 2HM0eIZE ==cldl 250,000& 124 3,000,000 &
@ AN 2E(Us2S)
—sehgda 2 HHIKSXE+ 2,400,000 10042 24,000,000 #
@& bl2teltl
—JIAHII+ =2l 250,000 x120H = 3,000,000 &
— &JIBIS =2l 250,000& *12JH = 3,000,000 &
— daEH RXNE+= 4,500,0003 12002 54,000,000 &
SHQHY HEZ RAE4 25,000,000 25,000,000 #
@ "Lt L UERD HHIS S KRB 18 + 25,( 25,000,000 #
® UPS RXIE= 12J1E » 605,000& 7,260,000 &
® QoS FAE= 12& » 572,000& 6,864,000 &
@ ZSIBMHA 25 L AL HE(BHISXE=L 2te])
-5 & F=X4dl |X2cldl 2,600,0003 1242 31,200,000 &
—=&J ¥ =X&EH ZHl 2481 2,500,000+6 4 2 15,000,000 &
—d2=RLIEJ| |RX2eld] 11,000,000 x14 11,000,000 &
—dterate Il SA2s2eliid = 1,200,0003 %12] 14,400,000 &
—dE 2 @&l MEHl 6,500,000 %23 13,000,000 &
—JIAHA ZH] ZHIE2==4] 700,000 +6H2 4,200,000 #
—&D|a HHIE 44| 265,000 «6H & 1,590,000 #
—GHP UiJltiE M2 & X £ X4l 28,000,000 *14] 28,000,000 #
—GHP S AI2= 1,000,000&*12)H & 12,000,000 &
-2 HHl mA2eldl 150,000«12I0 2 1,800,000 &
—CCTVAIAE &HI 2==H] 500,000& 1204 & 6,000,000 &
@ Hgs 24 28] =& % R AHl 600,000&*124 2 7,200,000 &
BHI: 959,297,000 &
4213 962,000 2,547,988 A 1,585,988
L& 2eldl @ XNEItset un=sgd &4
—wl 22 A4 = 5,000,0002 * 1274 60,000,000 &
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20233 H A=

n; = 4z = A2HOH _
2 0l &kl ATt Ol &b . &E2H = 9
& 2 = (A) (8) ot
— 2R AE E4+E Fbldl 4,000,000& 12002 48,000,000 #
— 2R AlE E4& AHHH| 3,000,000 12002 36,000,000 #
© StE=XIAIE e
— Z22Ald=2 2= 5,000,000 «124& 60,000,000 #
© xE== 2 AL 2t
— 2ZF== 24| 250,000 *100H 25,000,000 #
— 5244l 4,000,000 *42] 16,000,000 #
— JIJI==cltd| 250,000&*10& 2,500,000 &
— ZHIAIE = 700,000 %20 14,000,000 #
— =M M=H4&E 9,000,000 +33] 27,000,000 #
— &CI Gl= 25,000m x6003 +2 3] 30,000,000 #
— == S Al22l8l 4,750,000%x10H 47,500,000 #
—uwEd2e UE2s EF 210,000 +11H*20€ 462,000,000 #
© ZoHstdl AlE I
— ZO0HCeIAl4 E==H| 5,000,000&*22] 10,000,000 #
@ BHA 2332 ZE(AMESAR 2e)
—x=Z&el A &dl 1,500,000 +43] 6,000,000 &
—WWHEZ AL 22/l 10,000,000 *1 Al 10,000,000 #
—Itdet & A1 sX 2=l 3,000,000& 335 9,000,000 &
—stet 2 HE =2l € FXE2==H] 8,000,000& 45| 32,000,000 &
—S A AlIE %II‘:‘*WEIHI 800,000&*10%] 8,000,000 &
—Hetd SLIAHAE RXE4=H] 15,000,000& 14! 15,000,000 &
—3clA0tA FaAl AXd| 20,000,000%*1/%' 20,000,000 &
@ stE-e ¥ 22 2,000,000 1242 24,000,000 &
B 962,000,000 &
4214 - - -
e
BHAI: - ¥
4215 1,894,391 1,782,776 111,615
AN&EE4H © ZoHsta AlE IR
—E2HM0oclZE |RANEs EHH| 340,000& 1204 4,080,000 &
(o OFMSH NF Al A 22
— S| RANES S9H| 2,950,000 1202 35,400,000 &
—Aagord2te] HRUY =44l 3,000,000& 1290 36,000,000 &
— =2 SEMHY SHRALT A 2AH| 4,000,000 4,000,000 &

24/100




[

Jo

20243 H AT

20233 H A=

= 0 abo AT ZEZ O Ao NEED 2 o

= 2 = (A) (B)
— 2| 9/e =90| 400,0002 1200 4,800,000 &
— LM BRI D QI | 347,000 +1200 4,164,000 €
— 1AM A 2| 3,300,000+ 13] 3,300,000 &
— AHSAIEH X229 600,000 «1 2 7,200,000 €
— NYE QX EARH| 3750008 « 1204 4,500,000 ¢
— FI|QHEBE| 2 WA DA 242 0002 « 120HE 2,904,000 €
— FI|QHEBE| (B2 IS DS 2 AR 660,0008 * | 7,920,000 €
— DURIIIE ®I| &Y HMAICHAAZ 17,650KVA * 15 26,475,000 &
—OEAES OHNEY BAH| RS, ) SDHPAS] 19,800,000 2
— HPHES et 2AH| 680,0002 128 8,160,000 ¢
— =2 FI|HY AS2DRY 22| 15,000,000 15,000,000 2
— HOAES ANZI| E A0 SEEF 22H| 4,000, 4,000,000 ¢
— 9|8 AT} 22iH| 3,000,000 13| 3,000,000 &
® N&=0l DK A2
— XA YWeA)| QX 2L 2AH| 2880RT*6,0008 17,280,000 2
—2E JAZX 29T HA BAH| 1,640ton*2,600 #2: 8,528,000 ¢
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BHH: 782,838,000 &
4330 Al ZHelH] - - - -
4331 - - -
YAIG
BH: - =
4332 - - -
Al Z b
BH: - =
4400 DSQIHIS 250,500 273,915 A23,415
4410 X201 - - -
4411 - - -
K20l Xt
BHA: - =
4420 JIEtSolHIS 250,500 273,915 23,415
4421 250,500 273,915 23,415
FSEN ® T
~ JHE S= LGEX S=2 ¥HE 220,000,000 220,000,000 &
® 2tE F=alh] 500,000 500,000 &
OFESN,
—15,000,000+25¢7)| 30,000,000 &
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20233 H A=

~V & = A 2+OH
= 0fl AroY ARV Of Aoy Soss
= g = (A) (B) G
250,500,000 &
4500 M= 9,000,000 1,508,324 7,491,676
4510 =2 9,000,000 1,508,324 7,491,676
4515 - - -
SHIHNE2
4516 - - -
DYEEZ
4519 9,000,000 1,508,324 7,491,676
HESZ3HNES2
22 g HI 9,000,000,0002 9,000,000,000 &
gt 9,000,000,000 &
4540 AtEtEECH Y Sl & - - -
4541 AE R CHA - - - 2l
4542 SF)| AN = - 2
4600 Ol HIH 70,000 137,918 67,918
4610 Ol HIHI 70,000 137,918 67,918
4611 70,000 137,918 ~67,918
ol bl ® JI&8H C GilHI I 2] GlHIHI : 50,000,0 50,000,000 ¥
® JI&8H C A Ol HIBI 2] 0BIHl 1 20,000 20,000,000 ¥
70,000,000 &
1200 EXIRL | EF AR A & - - -
1220 E XA KIS - - -
1221 - - -
EXNSNIEHNL 2
1224 - - -
SINIIAEXK S
2
1229 - - -
JIEFE IR AR &
=
1240 JIEFRHA K 2 - - -
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o = 20243 H9IE | 20233 AQic = ooy
= 0f Ao AXIEZ Ofl Aoy T ME2H 29
il S -
& & = (A) (8)
1242 AXEE2 A= - - -
BHI: - 9
1243 22N = - - -
1249 J|EFRFAIR = - - -
BHI: - 9
1250 P22 =)|=28g - - -
12509 28 =01 1|3 - - - Bl -
12532 28 = A =)| 3 _ - — S| —
12549 2 B =513 - - -
BHI: - 9
10559 29 E= X=X - - -
1260 2o )| == & - - -
P EEEEPIEEE - - -
BHI: - 9
126320 H=)| 2 X & - - -
BHI: - 9
12642 0| &&H)| 2= & - - -
BHI: - 9
PR EEEPIEEE - - -
BHAI: - 9
126620 =SH == )| 3 - - -
BHAI: - 9
1300 D& KHAFOH I K| = 9,116,134 6,907,790 2.208,344
1310 S DA NHMHAXE 9,116,134 6,907,790 D 208,344
1311 - - -
SR
BHAI: - 9
1312 1 - 1
HEo | ® BE=3X 1,000 1,000 &
BHI: 1,000 &
1313 - 300,000 ~.300,000
D=2 Y|
BHI: - 9
1314 992,865 1,696,215 ~703,350
J1H 21 202! b ® BE=3 1,0008 1,000 &
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o = 202431 91T | 20233 AT
. = 0 abo AT ZEZ O Ao NEED 2 o
= 2 = (A) (B)
© U=Z=1 1,000 1,000 &
® AHAMDIHZ S 2Z" 3,366,0002 3,366,000 ¢
® M S 75 5,954,0008 5,954,000 ¢
® B==3 1,000 1,000 &
® QIHIC| S '30%" 164,536,000 164,536,000
© U7X ¥ 1,863,000 1,863,000 &
® YOIMEZI| = 16" 230,876,000 230,876,000 2
® HIOIAWT S 375" 104,819,000 104,819,000 ¢
© MXSP S 245" 47,179,000 47,179,000 &
® 2401013 E ‘62" 2,831,000 2,831,000
@ BHRCH 2018 HAF 2,200,000 2,200,000
® MXILE B, =& I, ASHE S 51,500,000 51,500,000 &
® HAA2Y(LIS2E)
— WU 2 E SE AR AH R 5,000,000 1 50,000,000 &
@I AT THE S
S orE XI5t A2 IR R , 013, | 20,620,000 &
—XED A0 s 0ICIEY 2E( gc, | 3,240,000 €
—HDAS A2 95t AN YD Al PEImPN 31,500,000 &
—J|%m%§+§@§§+ e E B o J|X 13,771,000 2
—298 IR 2 10,000,000 10,000,000 2
—=RE)| SEH*8OO,OOO_7%N 2,400,000 ¢
—AEI0I X BEA 213]0] A 1CH+700000_0 = 700,000 2
—SHAIE & E= 1[*2000000_ 0 = Al 2,000,000
—HAY DUE 401%550,000_ 0 = Al 2,200,000
—MTmEME BT 11400000 D24l 1,400,000 &
—HEZL-E2 1{x5000000_ 124! 5,000,000
— AFEFH| 15,453,000 * 1A1_0|2H Al CHO! LA E 15,453,000 2
© ELAY
— ES2 DSLRIIMZ, MZ20Y, 3=x EN== 30,000,000 2!
©® B==R 1,000 1,000 &
® BEZHE S '35 121,550,000 121,550,000 &
® BXOISEEIID S 115 67,903,0002 67,903,000 &
BHAI: 992,865,000
1315 257,801 669,007
Z10HIZ 042 I ©® B==F 1,0008 1,000 &
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20233 H A=

n; = 4z = A2HOH _
2 0l &kl ATt Ol &b . &E2H = 9
& 2 = (A) (8) ot
© =2ctol statslel= &4l 5,000,000 =1 5,000,000 &
© =2cto! stas|olg L E= 3,000,000 «1CH 3,000,000 &
© SHARA 0ot HEHIZ ZHE Y 1,000,000 * 4 40,000,000 #
@ APWAALY L MREN S HIS & 4,000,000 40,000,000 #
© dHHS Zeld, 2UH S Wi &4l 55,000,000% 55,000,000 #
© D] WA *Hl 15,000,000 15,000,000 #
© S22 M7 X APR4A HISE 11,800,000 11,800,000 #
@ XEHQ sl Ldae]
— HHED| 228l 5,000,000 *5CH 25,000,000 #
@ IIZEEES 2tel 23 HIE &8l 2,000,000& 2,000,000 &
OFSP/l=[E=3=" 0=
—g2E AFE10U+2,000,000_n =2 2,000,000 &
—g2E RES 20#+2,000,000_w=4 4,000,000 &
—gE=2 3FH S S ZJI 1004%2,000,000 20,000,000 #
OFSP/l=[E=3=" 0=
=AY WA IJINM 2 % == HF WA 10,000,00( 20,000,000 #
—WAA QBN AL R 1,000,000 24 E 2,000,000 &
—wHPA HIIFHY 2,500,000%44 10,000,000 #
—dEE LE=S ¢ 1,500,000%2H 3,000,000 &
257,801,000 &
1316 1 24,102 A24,101
Atk ekt ©® W==X 1,000 1,000 &
1,000 &
1317 865,466 870,466 25,000
CAYHI © A2 EM Y 2HE &5
— I LHA S = 3,500 %13,000& 45,500,000 &
—=2/A &el= 5003 40,000 20,000,000 &
—BIZ=A, S8 1105+13,000& 1,430,000 &
—= W& X 25,0305%13,200& 330,396,000 &
—=UWHE2HE 315+100,000 3,100,000 &
—=2HE2HE 65+200,000& 1,200,000 &
—&ANH E&sr=DB 95+21,188,000& 190,692,000 &
—0ledd 35%14,400,000& 43,200,000 &
© = &Hei=E 5002 +20,000& 10,000,000 #

98/100




[

Jo

20243 H AT
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—Ve = A 2+0H _
= 0 &k 4T ZZ O Ao <y AE2H = o
o i = (A) (8) el
© 29 S (MNTAH Z3H) 1,0002+32,6008 32,600,000 &
© MK, 208 & JIEH & DB 8%+23,418,500¢ 187,348,000 &
- 865,466,000 &
1318 - - -
sEnR2AUY|
- - &
1319 7,000,000 3,348,000 3,652,000
AS SR © W& DDA ASSA
— 82 DEADAIL AIFZ AL 7,000,000,0008 7,000,000,000 &
- 7,000,000,000 &
1320 28 DMK AF = - - -
1321 28 DA - - - CRE - o
2100 RS A& - - -
2110 BRI S A8 - - -
2111 EDIXtI S48 - - - CRE - o
2200 DE S TH A & - - -
2210 B S48 - - -
2221 - - -
E=PIPuI =N
BHA: - #
2220 JIEt DB 2T & - - -
2221 - - -
dUEz283
BHA: - #
2229 - - -
JIEIDE R RHO A 8
BHA: - &
X = X = 8 2 110,382,698 111,298,233 £915,535 -
NS ENERNEE - - =
1100 J| L QE XA - - -
1110 - - -
K=EX2
BHA: -«
1120 - - -
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